A"

4 5 | 6
[ REVISIONS
REV.| ZONE |DESCRIPTION DATE APPV'D
A Original Issue 01/04/2022| HW
PLAN VIEW
™
G
E
5
X X X X X X X - 4 g
o o
3 & | i° |
- 0
n ~ a
[0 +—
X K X X K X g 2
- 3 5

00 I 0000000000000 I 2777000700000

2000 TYP

FRONT ELEVATION

596

91

SIDE ELEVATION

260
"l CUT Post here
0 S —ost nere
ojo 3
S 10 L N AT . . "ME " Carpark Barriers - Rhino-Stop® Screen
s 200 3 PISTE = SafeDirection| rhinostop® Screen Type 3, 1900mm High
.-' >
SECTION A-A C EfE.TA”[-J E i STATUS|  NAME DATE | e e e ations and the apyrignt Theren o _— General Arrangement I
Base Plate Detail u SC'QLQE 1:30 al ORAWN |W. Rogulski | 1/04/2022 |(255ittessr coed anoly or ' garh withot wrifin permssin SD_CP-06003 A AL
SCALE 1:20 ‘ cHk'D |T. Colquhoun | 01/04/2022 | UM% JHiaNes & Wr e o PRGN - -
APPYDH. IWallace | 01/04/2022 | STATUS: APPROVED WEIGHT223.5kg [ 407, 7 SCALE: 1:40 | SHEET 1 of 7
| 3 | L E\SDSYD\SD\Asimamers\SD—EPSDSOOD RhinoSTop Screen\SD-CP-06003 - RhinoSfop Screen Type 3, 1900mm }ggh\ Friday, 1 April 2022 122656 P



1 2 3 | [ |

| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
1 | GR-PB-IS-2360-AG Rhino-Stop® Screen Post 2360mm high 352
2 | GR-WB-SR-4000-CG | W-Beam Guardrail 4.0M NLL, 1.0M CTRS 433
3 | GR-FS-20-0187-HG FISCHER FBN I, M20x187mm 0.5
4 | GR-FS-16-0050-MG M16x50 POST Hex Bolt & Nut Assy 0.2

?? 5 | GR-FS-16-0032-MG M16x32 SPLICE Hex Bolt & Oversize Nut Assy 0.2] A

Cut Post to 1805mm

Stage 1: Post and Rail Assembly

MATERIAL Tme Carpark Barriers - Rhino-Stop® Screen

R E‘”f SafeDirection| rhinoStop® Screen Type 3, 1900mm High

il
COPYRIGHT ALl right: d ABN: 53 156 459 684

STATUS| NAME DATE These drawings, rp‘lansS arﬁsesr;:clhcahons and the copyright therein are General Arrangemenf

. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
DRAWN |W. Rogulski 1/04/2022 |reproduced or copied wholly or in part without written permission S D EP 06003 A A [',

g UN.O: TOLARANCES: +1r THIRD ANGLE - -
ctk'o |T. Colquhoun |01/04/2022 AL DMENSIONS ARE - PROJECTION
APPYDH. IWallace | 01/04/2022 | STATUS: APPROVED WEIGHT:223.5kg [P 497, 7 SCALE: 1:25 | SHEET 2 of 7
E\SDSYD\SD\Asimamers\SD—EPsﬂsbﬁD RhinoSTop Screen\SD-CP-06003 - RhinoSfop Screen Type 3, 1900mm }ggh\ Friday, 1 April 2022 122656 P

1 2 3 | A



| [ | 5 6
| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
6 |GR-EA-30-6000-BG Mesh Support Angle 6.6
? | GR-RH-SR-5025-AG | RHS 50x25x2.0mm, 8000mm Long Galvanised AS1163-C350 17.2
8 |GR-FS-08-0040-MG | M8x40 Square Neck Small Cup Head Bolt & Nut Assy 0.0
9 | GE-FS-08-0000-AG M8 Plain Washer Class 4.6 HDG
10 | GR-FS-10-0050-HG M10x50 Hex Head B&N Galvanised 00]A

® >

Stage 2a: Mesh Panel Support Elements Assembly

MATERIAL:

FINISH:

ﬁ SafeDirection

Bl

TITLE:

Carpark Barriers - Rhino-Stop® Screen
RhinoStop® Screen Type 3, 1900mm High

COPYRIGHT ALl right: d ABN: 53 156 459 684
STATUS| NAME DATE These drawings, rp‘lansS arﬁsesr;:clhcahons and the copyright therein are General Arrangemenf
. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
DRAWN |W. Rogulski 1/04/2022 |reproduced or copied wholly or in part without written permission
cHkD |T. Colquhoun | 01/04/2022 |UNO" JOLARMNGES: siam 1D ANGLE SD-CP-06003 A | AL
APPYDH. IWallace | 01/04/2022 | STATUS: APPROVED WEIGHT223.5kg [P 497,54 SCALE: 1:30 | SHEET 3 of 7

L

E\SDSYD\SD\AsismbLy\SD—EP Carpark Barr\ers\SD—EPSDSOOD RhinoStop Screen\SD-CP-06003 - RhinoStop Screen Type 3, 19500mm }ggh\ Friday, 1 April 2022 12:24:56 P!



Mesh Support RHS Rail
fixed with 2 bolts.

RHS butt-joint located
at centre of Post —]

DETAIL C
SCALE 115

Both Mesh Support RHS Rails
fixed to Post

DETAIL D
SCALE 115

All RHS & Angle Mesh Support Rails
MUST be installed with the butt-joint
located at centre of Post, and fixed to
Post with 2 bolts af all Post locations.

Stage 2b: Mesh Panel Support Elements Assembly

PATERAL . . T Carpark Barriers - Rhino-Stop® Screen
S .,sr"’f SafeDirection| rhineStop® Screen Type 3, 1900mm High
DETAIL B ol
ABN: 53 156 459 684
SCALE 1:15 STATUS| NAME DATE %R:;Rldﬁmm‘;lsl, rp‘lahr:ss arﬁsesr;:éjlhcahons and the copyright therein are General Arrangemenf

: . the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE

DRAWN |W. Rogulski 1/04/2022 |reproduced or copied wholly or in part without written permission S D EP 06003 A A [',
g LN.0: 3 THIRD ANGLE - -
CHK'D |T. Colquhoun | 01/04/2022 [U%0 JovmoNer & i by o PROJECTION
APPYDH. IWallace | 01/04/2022 | STATUS: APPROVED WEIGHT223.5kg [ 497,572 SCALE: 1:30 | SHEET L of 7
E\SDSYD\SD\Asimamers\SD—EPsﬂsbm RhinoSTop Screen\SD-CP-06003 - RhinoSfop Screen Type 3, 1900mm }ggh\ Friday, 1 April 2022 122656 P

1 2 3 | A



~

~ . < o

\\ \&\

~

a

> ;W‘\“NH‘M

i W\mm <
=

3 | [ | 5 6
| ITEM BOM Weight
NO. | PART NUMBER DESCRIPTION kg
11 | GR-MX-MX-1812-AG | Mesh Infill Panel 1800x1200, @4 wire, #1x9 aparture 3.8
12 | GR-FS-08-0000-AG M8 Square Hole Mesh Washer 0.0
13 | GR-FS-12-0035-TG 12g x 35mm Hex Head Screw Self Tapping, 10 tpi, Class5, B8 Coating

I
g
-
2
<
N

Stage 3a: Mesh Panel Assembly

Tl : . .
“HNHHUIW a " arpar arriers - IN0-ST0 creen
MATERIAL : ITLE C k B Rh Stop® S
@ (®) S— - SafeDirection| rhinoStop® Screen Type 3, 1900mm High
o -I-
el BN: 53 156 459 68
COPYRIGHT ALl right: d ABN: 53 156 459 684
STATUS| NAME DATE These drawings, rp‘lansS arﬁsesr;:clhcahons and the copyright therein are General Arrangemenf
. the properties of Safe Direction Pty Ltd, and must not be used, DWG NO. REVISION: {SHEET SIZE
DRAWN |W. Rogulski 1/04/2022 |reproduced or copied wholly or in part without written permission
o [T Colauhoun |01/04/2072 | JOUGHES 2 o page|  SD-CP-06003 A [ AL
APPYDH. IWallace | 01/04/2022 | STATUS: APPROVED WEIGHT223.5kg [ 497,34 SCALE: 1:30 | SHEET 5 of 7
1 2 3 | L E\SDSYD\SD\Asimgmers\SD—EPSDSOOD RhinoSTop Screen\SD-CP-06003 - RhinoSfop Screen Type 3, 1900mm }ggh\ Friday, 1 April 2022 122656 P




Mesh Panel 1200 Mesh Panel | Mesh Panel E

[ O

I l O 1 T 1] A T 1 s e -

Lx equispaced fasteners per Mesh
Panel on each RHS support rail.
Uh [ |
W Mesh Mesh
é l [ci] — ( Fﬁ Panel Panel

m

) | D/Fasfener located between Mesh Panels, with
J | Profiled Mesh Washer lapping both Mesh Panels.

TYP
8x equispaced fasteners per = ::r
Mesh Panel on Guardrail
n n L AR
- —_— ]

J

0

]ﬁ[7 - l - j e ; e ﬁ]#[yig DETA”: F Mesh Panel Assembly Notes:

1. Position first Mesh Panel in Portrait orientation, resting on bottom Mesh Support Angle rail.

HH SCALE 15 2. Position adjacent Mesh Panels with a 5-10mm gap fo allow for fixing screw between each Panel.
n” H 3. Fix Mesh Panels as indicated in Detail E and Detail F views.
M 10 MHWW HHHHHHHHHHMHMMMMH m £ 4. Each Mesh Panel to be fixed with 20x Self Tapping Screws and Profiled Mesh Washers.
Lx equispaced fasteners per Mesh
Panel on each Mesh Support Angle rail.
Stage 3b: Mesh Panel Assembly
DETAIL E .
SCALE 115 FATERAL ¥ - Time Carpark Barriers - Rhino-Stop® Screen
S— =] SafeDirection| rhinostop® Screen Type 3, 1900mm High
I_.n' -I-
] BN: 53 156 459 68
STATUS| NAME DATE %mﬁ! rp‘lahr:ss ;ﬁsesr;:éjlhcanons and theA:npirwthtgefem aﬁrel' General Arrangemenf
; the properties of Safe Direction Pty Ltd, and must not be used,  |DWG NO, REVISION: [SHEET SIZE
DRAWN |W. Rogulski 1/04/2022 |reproduced or copied wholly or in part without written permission
cHkD |T. Colquhoun | 01/04/2022 |UNO" JOLARMNGES: siam 1D ANGLE SD-CP-06003 A | AL
APPYDH. IWallace | 01/04/2022 | STATUS: APPROVED WEIGHT223.5kg [ 497,34 SCALE: 1:50 | SHEET 6 of 7

1 2 3 | l. E\SDSYD\SD\AsismbLy\SD—EP Carpark Barr\ers\SD—EPSDSOOD RhinoStop Screen\SD-CP-06003 - RhinoStop Screen Type 3, 19500mm }ggh\ Friday, 1 April 2022 12:24:56 P!




|I\I| i ,.‘
nl

.v

|‘|\|| i | e ||I! |I Hm\m
H“””'” il \"” )
|n| | | ii l:;“quﬂ\..|”'\”|'|""" o] ”MIH,H'ilHl |1l Il!
\|| Mlthl\l\l i I\ “nH:Hnul il

I '!HI
i |||I||I'H||I
|||||| :
|" et
||| Il ul ||||m
| L
H 1 i ‘ | “H |'!" 2
e
I II\
HHIH”II\IHI . |‘ii i|I| { i
I H iﬁ”lm |||| ||||II|||||||||H|”I m|IIIIU!!‘|!!1!!HHIH\
mnlllH ||'||||||\|||“ || HW “lu ' ||I [l 1Pk miiun."
‘ i |||| ul' |H ‘
uum |||| e |.”
P || |||m|| | wﬂ, N||HH|||“ h\lh 1 ‘||IH|'\ g1!||\l\\||.“\'\"""""'“"'
o u|||||m|||l|” ‘ m\mi || \|||!IH m"\'h\'\'m\ll\w < Al
‘ m |\|I ‘|
| \III\ | ‘uu
m \,. il
||||||||I| il ”” """"\'!'\'\”"m“Hm‘m"m '\' 4
” |||| \nll" ‘H
|l| ” il
H mw
||| I

Stage 4: Final Assembly

FATERAL & P Tme Carpark Barriers - Rhino-Stop® Screen
IS ' SafeDirection RhinoStop® Screen Type 3, 1900mm High
STATUS| NAME DATE %g::emdﬁmm‘;: rp‘lahr:ss arssesr;:gh(arwns and theAtE;‘yrwsgihtﬁ:e:’e?r? aﬁrﬁeb General Arrangemenf

- the properties of Safe Direction Pty Ltd, and must not be used,  [OWG NO REVISION: | SHEET SIZE
DRAWN |W. Rogulski 1/04/2022 |reproduced or copied wholly or in part without written permission S D E P 0 6 0 0 3 A A l+
oo [T Coauhoun | OV08/2022 |0 JSEEE B -CP-
APPYDH. IWallace | 01/04/2022 | STATUS: APPROVED WEIGHT223.5kg [ 497,34 SCALE: 1:20 | SHEET 7 of 7

L

[\SDSYD\SD\Asismbly\SD—[P Carpark Barr\zrs\SD—[PSDSOOD RhinoStop Screen\SD-CP-06003 - RhinoStop Screen Type 3, 19500mm }ggh\ Friday, 1 April 2022 12:24:56 P!



	Sheet1
	FRONT ELEVATION
	PLAN VIEW
	SIDE ELEVATION
	Section View A-A
	Detail View G (1 : 10)

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View9
	Detail View B (1 : 15)
	Detail View C (1 : 7.5)
	Detail View D (1 : 7.5)

	Sheet5
	Drawing View4

	Sheet6
	Drawing View14
	Detail View E (1 : 15)
	Detail View F (1 : 5)

	Sheet7
	Drawing View5


